&

()

(b)

(c)

(d)

1L ﬁmﬁ%‘i%ﬁﬂaﬁmtﬁa@ﬁmm%
S vz 1 Bl A i sy ?
st fo3 TS €8, g ey ¢
feasU IS5 I T YAs ¥y ¢
In the following question, o,

you have to select one alter
image of the image in the qu

- @ b @

ial Educator Teacher Question Paper 6 JAN 2024
PART 4 \

N 1y w7 3T A & | SR U (e = B
¢ D= -
S e Ay

W3 ) gn 3 R @H O e 9w 9| 396 e
933 ¥ Hify 3 3T 50 Hogs HE v 92
"alternatives are given which follow a sequence.

Native which exactly matches with the mirror
estion,

27

(=)
(b)
(o)
(d)

2. Treafeifiad o § S1erl 1 -1 Ve, TS o sHfi T T S R SR @ B HE

Jo' 183 wiygt = fagar He wiet & st § yor 9w 9, 78 @iE wiEes '3 S
T J7? |
Which of the following sets of letters complete the letter series, when
sequentially placed at the gaps?

bbdac
aacbb
dbbca
abcda

a_cdaab_cc_daa_bbb cecddd

/10-D
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ﬁ:ém:(SA)ﬁﬂfﬁﬁgﬂWﬁmeWﬁaﬂtﬁqqqmﬁégwﬁz

Fifora e O A,

e who seeks truth’ # “3ma 2¢0 2h

e 3mx’ & ®Y § fo@n 9 &)
) 3 w0 T forar S 21

ll.l
«Truth is a complicated term’ A 3mx 2mh 2]a 2sa 20x

s truth’ ® 3mx 2he 3kl’% &9 # foran s 2|

of lord’ #r 3kl 2mh 2co 2ze 2ox’ 3 w1 1 ferar S 2l
st @ wew e

‘Lord seek

cwho 18 term

the who seeks ¢ruth’ & 8ma 2co ohe 3mx’ fafm fam J|
plicated term’ § ‘3mx 2mh 2la 2sa 20%’ Fesfipeyt fapot™ 1

2 «gmx 2he 3kl fafipyr famr 1

Lord seeks truth’ @
«who is term of lord’ & 3kl 2mh 900 Dze 20x Tafemi fami® Bl
d answer the given

Study the foll

“Truth is & com

Direction : (3-4) owing information carefully an
questions :

In a certain code language,

‘he who seeks truth’ is written as «3ma 2co 2he 3mx’
“Truth is a complicated term’ is written as 3mx 2mh 2la 2sa 20x’

‘Lord seeks truth’is written as ‘3mx 2he 3kI’

«who is term of lord’ is written as 3kl 2mh 2co 2ze 20X’

3. @ TS e W H R 0 ox’ 1 FT 3 27
(a) Truth
(b) 1s
(c) term
(d) (b) 3T (c)
54 qret 3 I 99 4% 20x T o Wi I7
(a) Truth
(b) is
(c) term

(d) # 3 (b) 7 (o)

/10-D (4)




4.

D

What does the Code 2ox 1ang Tor i the given code language?

(a) Truth
(b) is
(c) term

(d) Either (b) or (c)

_.-—-—"'_'-_._.__ _\N\\_‘__‘_’____

feferftad § ® ®BF, “Truth’ ¥ oM iz 3 gepar 27
‘Truth’w%wrfﬁiﬁﬁqyagﬁma?

Which of the following coylg be the code for ‘Truth’?
(@) 2he

(b) 3ma

(¢) 2mh

(d) 3mx

et e 2 -
8,6,9.23, 87,....,

seh e - R

fior ot § 29 -

Look at the following series :
B, B, 9,23, 87, .
What number should come next?
(a) 128
(b) 226
(c) 324
(d) 429

/10-D
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6. T @ Ta i

34 REd B8

Find the missing number

4T5]3]2]0
— 134|421
Slal4]5 22
DOEEE

(a) 34

(b) 42

(c) 44

(d) 45

SR

7. A+ B aﬁi%ﬁsA,Baﬂﬁm%
fi5 A, Bl W 8, A/ B T 3 B
%wamﬁa;mm%o—}?smwm%?
(a) p, R &I TgL 2
(b) PR
(c) P,Remw%

(d) P, RIS R

‘A+B’@mﬁﬁﬁA,B@ﬁwﬁr, (A— B =7 HIBE J 1@ 4, Bt usat J, ‘Ax B
vz I g A, BT, ‘A/B’E‘THEFS‘HfIﬁA,BEﬁ%ﬁf’Hh@‘A=B’ETHEEE
%ﬁA,Bﬁ%ﬁlfgﬁﬁ'ﬁTﬁ@Wﬂ 3. P+ Q- R T ot »FE I7?

(a) P, R AT J

,‘A—B’awaf%%A,B?ﬁqﬁﬂ%, ‘A B 2% 3
ﬁﬁfl,BEﬁﬁ%aﬂT‘A=B’ﬂﬂﬁﬂ?ﬁﬁfl, BT T2

(b) P,RETYIJ
(c) pRT g9 J

d PRRTITI

‘A + B means that A is the father of B, ‘A— B’ means that A is the wife of B,
‘A x B means that A is the brother of B, ‘A /B’ means that A is the mother of
B and ‘A = B means that A is the sister of B. On the basis of this information,

what does ‘P+ Q— R’ means?

(a) Pis the father-in-law of R

(b) Pis the sonof R

(c) Pis the uncle of R

(d) Pis the brother of R

/10-D (6)




. ey .-': T ———

8

”W%mh

B —

o) YN i oyt e s 4
(b) %@ﬁhﬁ@aa‘ﬁ@g@nﬁmw}

) S E IO 3 R g o 1 27 T 2
(d) I H | B TE

MS Bxcel fS8 COUNT Eatms ft aqy PO

(a) ﬁﬁ%ﬁﬁgm%@%;ﬂmﬁ:ﬁ

(b) fé‘aéﬁfé‘aﬁ%*ﬁggﬁwﬁmm

(c) ﬁﬁéﬁﬁaméﬁéﬁﬁ@@mm

(d) Budas 129 qt =t

The COUNT function in MS Excel is used to

(a) count the number of cells that contain numbers in a range
(b) count the total number of cells in a range

(c) count the number of cells that contain text in a range
(d) None of the above

B A b T i —

(a) T FHR HI el Tgw

(b) T ST HH % T Foft 7 et

() e gl R, N e T e @ qa S @ g w9 6 gl
@) HFH A P

s wiewite-a feim feimsT &,  oomGt 3

(a) EHE uzT & i famy

(b) €S Had T &5 ot It fea Teiw

(c) fex femmar 7 3078 f¥a €hivs & fai 99 9w &% &6t a9s &<t 9
(d) Buges f2E =t &

An email attachment is a special feature which indicates

(@) a type of email address

(b) a file sent along with an email message

(c) a feature that lets you attach an email to another email
(d) None of the above

/10.D (7)
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10.

Azt gren ol g g e e ‘\_/’-/”_—j

(a) U VHR & HO TP
e T, SR & AU AT F A qref o i
ot Yoo ) g T T IR ) ) areh wh fafr

()
(d) 9w i @ g A
Aretsg gafynr © HEaHd fefiar  d7?

(a) UG ofegn of o famd

(b) fo gaie 79T T w4 T9F BT § Hiwals eard), e 1 A oy
%f%mW@WWWW%MWFW@W%W

() FfufeT de=d 3 § FoftmE 596 Bt lgnr sre =z I

@) Guias & a &t

What is ‘phishing’ in terms of cyber security?

(a) A type of computer virus

(b) A method used to trick p
passwords and credit car
source

(c) A method used to secure a computer network

eople into revealing sensitive informations, like
d numbers, by pretending to be a trustworthy

(d) None of the above

11,

gﬁ#mﬁﬁhﬂsExcelﬁméaﬁﬁamm%,ﬁagﬁm%wﬁmmm '
”

(a) ﬁééﬁﬁaﬂlaﬁtﬂiﬁﬂiﬁﬂi

(b) & 3T 3R 36 W faerh

() fesrea ¥ ait = W foersh

(d) 9 4 & Wis TE.
ﬁaaﬁﬁ?L@WMSExcelﬁaﬁaWU@FG@?%,?ﬁa__maﬁ?
7 Haer J1

(a) 29 U w3 ¥9< '3 AW A9

(b) T 37 w3 femwae '3 afsa 93

(c) fEarels o8 w3 99e '3 FBF a9

(d) Busaz &9 adt st

/10-D
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If a user wants to insert 5 o 1ow can it be done?

art in Ms Excel, then I

(ﬁ) Insert tab and cliclc on Chart

o) Click on Home tab apq Insert

c) Design tab and click o Bl

(d) None of the above

(b) fEeass Y0

(o) e Yo

(@) feedss Y

[P acronym in networking indicates
(a) Internet Protocol

(b) Internal Protocol

(c) Internet Provider

(d) Internal Provider

13, Jeafdn A “wrErater |8

(a) oo T o forg wen wiifers amen

(b) el ficht e e SR T = Y % fere e e T R
(o) e R < e B T e B

(d) I § 2 A

/10-D (9)
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ay o - % m
5e3dd 99, féa afegers o 37

a) ¥e=I A met iy dfgw g
(b) e fmen- qmmmﬁwwﬁw@?ﬁmgﬂwm
i3 famr 3
() &% famey it Yoo § &7 @@ J
(d) Sudaz f&5 a=t &t
What is “firewall’ in networking?

(a) A physical barrier for petworl security

(b) A system designed to prevent unauthorized

network

access to or from a private

(c) A system that cools down the network

(d) None of the above

14.

MS Word & ‘Print Preview’ ¥1 87

(o) g Tk & fin g 3 G GRS S e
(b) %ﬁzwﬁaﬁ%ﬁ‘@m%

(c) 77 o HT et W A @

(d) Y | A I T

MS Word &9 ‘Print Preview’ & 972

(a) ﬁam@@%ﬁﬁﬁaﬁmmw&w@%ﬂv
b) feaﬁgarfewawﬁw@?ir

(o) few erew fjeg § 37 I

(d) Sudas f& aet &t

What is ‘Print Preview’ in MS Word?

(a) It shows how the document will look after printing

(b) ' It shows the print dialog box

(c) It sends the document to the printer

(d) None of the above

/10-D
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S e EET
sl B &1 g T e
—— - [§.2*] ‘;n :;l

(@) @S T
) wEHic wweE

(o) BISHT 3T Hiiedag SRICS .
R GE

{d] 39 |

fox Sudfear ey o W gy
(a) =% YHfHar

(b) AyHle ydus

(c) TIINE

] i !

"3 NI NI o ysing a9
(d) =9 e

What is the main function of an Operating System?
(a) Word processing

(b) Spreadsheet management

() Managing hardware and soffware resources

(d) Web browsing

16.

/10-D (11)

A, B3R C@Wﬁm:s@ 54, 3 72 Rl § 9 Thd 2| IEH HH IE AT oAl
AR FH T B ¥ 8 e e Sis e, e B Y wW @ @ 12 for ved w1 fam
ERETERTGIRCACA LR o)

A, B "3 CHIT 36, 54 w3 72 fust fq fa o 99 W 761 8 & 9H Hg a3 &3
WS AS IH U 3T 3 8 fop ufast 3 e aefy By oM ue 3 3 12 fos ufTst 53
fagr1 & 165 fog av iz

A, Band C can do a piece of work in 36, 54 and 72 days respectively. They

started the work but A left 8 days before the completion of the work while B

left 12 days before the completion of the work. The number of days for which
C worked is

(a) 4
(b) 8
() 12
(d) 24

| P.T.O.
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18.

m’gmtﬁ?ﬁﬁaﬁ R RS ——
are. 3T ol 3F B EERICARCIIC I R TE ol . Ao

e
o =) ¢ b fafbra ¥ @7 A W, X1,012 3k 4 @ J 3,0

Ya—ﬁjj‘f{ 6 Y w12l 2l 6 71

. 3 &1 3T

oy it ol o T QS T BT 21 53y gy it 5 67 B J1 6 AT T

w3 GrE »A fea §t GHI T OIS g
gent is 2:3. Ajay is

between the ages of Ajay ang v
ay at pre
jay P s age to Vijay’'s age

The ratio
G vears | \mm”u than Vijay. What will be (he rutio of Aja
after O \Cmq

(a) 2:3

by 1 i

(C.‘.] 4:3

(d 3:4

___—_-__-_____._____——-—-'___—__—"‘

ar
aﬁm-ﬁa:aeng?

4@1‘%‘??.1,06;201%»@@‘183143‘?% 5
at a simple interest amounts to 71,012 in 2
The rate of interest per annum is

'2 years

A certain sum of money
and to £1,067:20 in 4 years.

(@) 3-5%

(b) 3:8%
() 4%
(d) 45%

19,

T goATel, m:ﬁﬁraaqa?gqﬁaﬁaéWQO%mwgnqﬁ 1 feX Y& g4 I @rT
77 210 7, ot e Fraror 3 qur S T T LA @7

fig o7 =er Ig fig wet s 3§ T 9 yFT BT 9 9, ZO%WEZH"@?T'JIW

1%mm€m?1oﬁxﬁa@ﬁmﬁawwwﬁwm
r at 9 per litre.

A milkman makes 20% profit by selling milk mixed with wate
f the milk and

If the cost price of 1 litre pure milk 1s %10, then the ratio o
water in the said mixture is

(a) 3:1

(b) 4:1

(c) 3:2

(d 4:3

/10-D

(12)



21.

20, I3 %ﬂmﬁ@naﬁ%aﬁaaﬂa

-—-_".___-_.__

T 10 2 3i 5 &1 1 IAIT 5: 3 B, @ G HEnA

1 U 2

3 FAEIHR AT g nigg 1 s _ s o s
i 3T 10 3 w3 Qgat fedgdd »EUE 5:3d, 3 2 Aftmret

o JTHS J e 8 i

e difference Iy .
If th ctween twg positive numbers is 10 and the ratio between

them is O : 3, then the Product of the two numbers is

(a) 325
(b) 375
(c) 175
(d) 125

@Wﬁﬁwtﬁw 1,75,000 & saht 2,62,500 & 75| 9fd g4 SEeAt i siaa
g 9fg 2

fea woa 99 = e & wrareht 1,75,000 5 2 & 2,62,500 3 E| yFt A wrErER
EIRECRICiEERC T

The population of a town increased from 1,75,000 to 2,62,500 in a decade.
The average percent increase of population per year is

(a) 437%
(b) 5%

(c) 42%
(d) 51%

22.

e 1 el FET § 1200 F st a7 3 A1d 85% 37 gEdl wlien § 800 W iR
3 & H1Y 70% e YW fopu R qiomy 21 whiamsti & 9ga % W 3N 2, ot 999 %,
___®I -

g95 & ufaet =0 3 0 1200 widt T fifinr &9 85% wia, w3 gt <0 3 =0 800 e
T e &8 70% g Yz 31 F=g adlar o= fifinret € Agas % 3 wWU9S I,
T REES % J

Rahul scored 85% in 1st exam with a maximum marks of 1200 and 70% in

2nd exam with a maximum marks of 800. If the result is based on the
combined % of the two exams, the combined % is

(a) 64
(b) 78
(€) 56
(@ 79

/10-D
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23.

TSR R 7

“Tee' T H VA AR T

(a) o
(b) e
(c)
(d) TeH
“Tee' HEE WH 39 3 3% fediort 85 99 faushur Smi fag agfane 7 37
(a) <fom

(b) T3

(c) ST

N

@ e |
The term ‘Tee’ commonly is used in which of the following sports?
(a) Tennis

(b) Polo

(c) Swimming

(d) Golf

24.

O 7, 0023 ¥ s FIE HI SGeH & oy, S A e U foeae T R
ey

WsHs fiFs 2023 9 wuariua agst 9§ 8 oEt 89 AT 99 fds o2 68 uw =3
qE?
How many new bills were introduced in the Lok Sabha to replace the Criminal

Laws in Monsoon Session, 20237

(a) 1
(b) 2
(c) 3
(d) 4

/10-D

(14)
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5. T sl T,

2

L AT ——
;,,‘;.-#EJ-’-'"'M

(@) qr@w WA /el ELne:

(v) gfo 31sGTT hellH H Tz

(o) A T AR g B

) 2o dlo o T i Iuefm)

qriedt TSR 99§ e I
(a) as UTH'E Yt <f EEEES

(b) gr, WHES d&™ =) Eﬁtﬁe

) 598 & yfd® Aese & sifgy

) 85 .2 IHE It gt

The National Technology Day marks the
(o) anniversary of Pokhran nuclear tests
(b) anniversary of Dr. Abdul Kalam

() launch of India’s first satellite

(d) achievements of Dr. C. V. Raman

%m&q‘ﬁmﬂmmﬁl

g93 T Wger 56 M3 Ten Hadt de J7

(a) a&IH THHT

(b) Fr foguH

(c) TH Heg JEITAT
(d) #3gs ITH HU='S

Who is the current Law and Justice Minister of India?

(a) Kalraj Mishra

(b) Sanjay Nirupam

() Ram Shankar Katheria
(d) Arjun Ram Meghwal

-“_""—-—u___
/10.D (15)

[P.T.O.



27.

o R, R g, TN,

(c)
(d)

gt 8 mEs-foredt
(@) fprfas

(b) =TS

(c) wraafes €39
(d) wleaafea
The Indian Researc
(a) Siachen

(b) Darjeeling

(c) Arctic Region

fed wfag §,

h Station Himadri is located at

28.

(d) Antarctica
R

e, e 3i e 1 ST 33 3 R S ST S i W S B o 2

(a) HGH
(b) fe@m
(c) HERTg
(d) aREg

- ot 3] - » - ol
e, Tag »3 g § yoro & S wien Hier 339 gHed! uad fog AfEs 7

(a) »A™H
(b) fegd
(c) HJI'THST
(d) IfHBES

Tadoba National Park, known for sheltering tiger, panther and bear, is located

in
(a) Assam

(b) Bihar

(c) Maharashtra
(d) Tamil Nadu

/10-D
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ri{ﬁa 3 % 9@ ﬁmﬁaﬁgﬁ R~

i ' : LR 3 arlermr % REn |@EE 3 G o) uen
a:;[?janﬁ A 9 E U] ‘;}p DR, oFEE AR
(a) & 4T ATy
(b) T & Tl
B LUEREREE T RIS i
(d) WA % TERNTER)

Ag-199 9T @ I3, Iz Bfipyt
et &9 07 8 o 30

(a) B”Hgémﬂﬁf?ﬂ

(b) 393 € THIUH

() W@aﬁm?mm%>m€am
(d) FI3 T IS Hogm

Being & non-member, whe 4
proccedmgs of eith

& 3z 22 2 wifuaa 3 fas’ vre @ fan & A= &t

mong the following can participate in the
er house of Parliament without having right to vote?

(a) The Chief Justice of India
(b) The President of Indig

(c) The Comptroller and Auditor General of India
(d) The Attorney General of India

;ﬁﬁwwmﬁﬁﬂﬁ#@m@ﬁmﬁﬁa%aﬁﬁwﬁﬁaﬁaﬁﬁwﬁz
feam T W2 ¢ (39, 784, 17) (14, 400, 26)
59 feamy 32 fm f9 wifieret OF 337 whifeg 96 i fa 3oF A3 et i Himre
J6:

fdgr #e : (39, 784, 17) (14, 400, 26)

Select the option in which the numbers are related in the same way as the
numbers are in the following sets :

Given set : (39, 784, 17) (14, 400, 26)
(a) (54,256, 13)
(b) (20,676, 32)
(c) (19,282,28)
(d) (17, 144, 77)
/10-D (17) [P.T.O.
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I -
PART—B
31. ﬁﬂﬁﬁﬂﬂﬁa‘fﬁﬁmaﬁﬁq@ﬁﬂa

(a) FEH
(b) T
(c) qrgHd
(d) T -
32.%%%@&@@%%@@%:
Gﬁﬁwm,ﬁamﬁmﬂm|

1&g T = I :

PR 5 N
o & @ wa Al T |

m%ﬁ?ﬁ!ﬂaﬁ!mﬁwﬁﬂml

(&) S
(b) M
(c) ®
(d) wEqH

e e 8 8 P T

(a) M

(b) frr@

(c) =9

(d) e

35. feffaa s § & woHi

(a) T TG B e
(b) WA geiel i Gerl 3

(c) 9% faF s} mam 8

(d) sfaciy e &

/10-D
(18)
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TR —
SB-W@HWWF@WMWE&:

(a) A+ 9™ EWUTCI

(b) ﬁm\+fﬂq

[C) . + 9™

(d) fag + 9™

e T B R e
g T%;:? wrer-firar @ e

i SrfRrRTIE gra

(ffi) aﬁﬂﬁ%ﬁﬁ%'{?{
(iv) fireeft 918G AR ot
(2) (i) (i), {@: ()
(b) (v} (i), (), (1)
© (i) @) i) (@)
@ (i), @ (@@, ()

e, Pt Ferat 1 7 3 e
e 7 e w @
(2) G T
(b) el Th HHIA L&
(©) gﬂﬂﬂ@’"
(d) fom A

|

39, FrefifEd w1eg % WE TARETE Ve W fafga i -
9T
@) T
(b) feem
(c) ®eed
(d) ==

40, Fefafad =g & =@t faiaeds = = fafga Hifsc -
kG
() T
(b) e
(c) I
| (d) T

IRT.O.



PART—C

o (o . =t A feamy 2 3/ 3g He
al. Iz foi @g & e’ A9 B $ .
1%,@%5W@Eaﬂ%%gw”aéﬂ?ﬂ
() BAC SENE
(b) f&8 U
(c) R IT TS

(d) AT, HI 3 HaA
__w
a2 3% fofimrt 53 fagar twrdft HEE Labour-cum-Conciliation Officer’ < KRN

[(fe3E]

(c) fegg-aH-Hadt
(d) fags-zH-»@Hd
%W{éﬁﬁa@/ﬁa@mﬁmﬁaﬁﬁmégﬂgw&m%/@m?

43.
(a) AB-WT

(b) f&3-&H
(c) YRIGAHI
(d) Gusas A9

44, HI=I": Sy fx e SE gIT MTE U
(a) It YIat I
(b) =™ &9 eHE
() Fa & d Ut 7
(d) faorer Hw Ui

45.%%%:‘%%%@@,%@@’%@#@&@%%%@
s Zafgn T FaET T2 3 A feasyt 1N g€ ¢
(a) 3¢y fugdt, gu9 IAEl
(b) wrE wg I, U um we 3 HIeI 9=
(c) Sor€ Tt I I
(d) 551 3t Hafanrs, Sdit e HHT T79

/10-D (20)
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o e UFEE 96 3 F

= mit fod
Uo I 2 A5y
46 ) I IHgST U‘{ng‘__m, EER =

(a) 3
() =t
(©) Wi
(@) A
ﬁweﬁa—ﬁg@mh w@mwmﬁwgm
Wauﬂ{ﬁﬁa”m@mmamwﬂzﬂﬁﬂ;
(a] f@ﬁ?%@%mﬁﬁwe&m,e@,mﬁswgﬂwﬁﬁlﬁﬂ

3J 7o

() 3= ¥ 3T T U X o g 4y oty g, Sfowigd 3 BEEETT HE TS
3 U IJ 7S

o TS 3T R U3 T fou iy i o v, =, BT 3 BEEETS Y e AN
JJ "B

(d) wé%%ﬁ%%mﬁqg@;ﬁm,e@aﬁ,ﬁmﬂémgﬂw%
X WH 3T "B

49, 75 et 25 ¥ widizg a1 ¥ vox o faow e wEE od 97
() ¥RES
(b) Herfeer
(c) ey
d) HesH
50. J5 fofimit fdg e waw &t g '3 =afgwr 77 Hae T8 Hd HEE §< ¢
(a) fidt
(h) foa=
(c) #rq
(d) Su

/10.D (21) (P10,



51.

PART |
!

' ntence i :
Select the most approprlate S:even ::3 N actiye voice for the given sentence :
The lost treasure chest wa ually discovered by a team of dedicateq

archaeologists. ]
(a) A team of dedicated archaeologists EVentually discovered the lost treasure

chest :
(b) The lost treasure chest discovered tp dedicated archaeologists
(c)

The dedicated archaeologists were discovered by the lost treasure chest
(d) A dedicated arc

52.

haeologist eventually discoyereq the Jost treasure chest
Identify the misspelt word in the given sentence -

with the beureaucracy sSurrounding, the geeurrence of separate

Dealin :
admimitrative tasks can be quite challenging.

(@) Occurrence
(b) Separate

(c) Beureaucracy
(d) Challenging

53.

Identify the sentence that contains a word synonymous with obfuscate.

(a) To make the recipe more.acclessib}e, the chef decided to simplify the

cooking instructions, making it easier for home cooks

(b) The lanterns in the garden illuminated the path, creating a magical and
enchanting atmosphere

(c) The professor used examples and diagrams to clarify the complex scientific

concept for the students
(d) The complicated instructions on the assembly manual did nothing but

confuse the frustrated customer

54.

Identify the sentence that includes the antonym of precarious.

(a) The reliable old car never let him down, always starting without a hitch
even in the coldest of winters

(b) The children’s laughter and boisterous play echoed through the
playground as they enjoyed their weekend

(c) The tranquil lake offered a serene setting, perfect for a peaceful morning
walk by the water

(d) Her quirky sense of fashion always drew attention, as she loved to mix
and match unusual clothing combinations

S5.

Identify the erroneous sentence.

(a) The cat napped peacefully in the warm sunshine, its fur gently rustling
in the breeze

(b) The chef skillfully prepared a delectable three-course meal for the
delighted guests

(c) The stars shimmered brightly in the night sky, forming intricate patterns

for stargazers to admire
(d) They embarked on a thrilling adventure, exploring ancient ruins and
uncovering hidden treasures on the dense jungle
s

/10-D (22)
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LIE SEMIENES 1 Which g idiom has been used improperly.

(a) After their victory, they decice e m red with a celebration
that lasted until daw:ﬁ ecided to paint the tow

(b) While 1i_stening Lo the speaker. she was busy reading between the lines,
trying to understand the hidden message

(c) She was so well-rested that ghe decided to start burning the midnight
oil for some extra energy
(d) His risky investment s

trategy was like sailing close to the wind, always
on the edge of success

or failure

Select the option that gives the correct orcer of the given sentence
(i) though not quickly enough

(ii) and the clocks were striking thirtcen
(iii) It was a bright cold day in April,

(iv) Winton Smith, his chin nuzzled into his breast in an effort to escape the
vile wind,

(v) slipped quickly through the glass doors of Victory Mansions
(i) To prevent a swirl of gritty dust from entering along with him
(a) (i), (1), (), (v), (1), (vi)

(b) (i), (i), (@), (v), (1), (vi)

(¢ (i), (1), (v), (iv), (ii), (vi)

() (@), (i), (v), (), (W), (vi)

. Fill in the blanks with the most appropriate option :

The professor’s lecture was so that it left the students in a state of
reflection. \

(a) confusing / unbiased
(b) engaging / profound
(c) simple / unimportant
(d) boring / scattered

/10.D

59.

. better for our plans tonight.

.. (e} Or, but

[——

60,

Identify the conjunctions in the given sentence :
Either we should stay home, or we should go out, but I can’t decide what’s

(a) Either, or
(b) But, either

(d) Either, or, but

Select the most appropriate sentence in direct speech for the given sentence :
They asked whether the concert had been cancelled.
(@) They asked if the concert has been cancelled.
(b) They asked, “Has the concert been cancelled?”
(¢) They asked, “The concert is cancelled?”
(d) They said, “The concert has been cancelled!”

(23)
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61.

PART—E
A ) JewEaR F HEol g e w9 A My R T @) Pl 1 @ R g B
77T 1 RO TR W7 SO ?
(a) ﬁ%@ﬂﬁaﬂmu{ﬁ(
(b) Hr-oaT 1 et § FEd B IS
(c) SRR HR

() Bfsret HieTw A oo qrERT

s 59 wHHESS! € F9st ot fermud B =it aret 3 Iz it f29 fan § five
&t wSasT T 96 od| Hion #=I 7

(a) &3 w3 Bt fimre & AR

(b) IS &9 Hitmr & Hwew ST

(¢) Hofed I

() WYs 9N &9 geAeT e

The causes of learning disabilities have been widely researched. Which one
of the following would not be considered a cause of learning disability?

(a) Short and long-term memory

(b) Parents struggled in school

(c) Genetic cause

(d) Faulty wiring in the cerebral cortex

62.

e SARwTa T g (IEP)

(a) T IEy & R wem Rierent 3t ISR F=mial i e F0igy
(b) @ faen % e & fu v w0 2

(c) o e B % fory = 8 U Ao 7

(d) T =ees o fese e 1 T w3

fea femadtas fiftmm GasT (Individualized Education Plan)
(a) Tox feagmanr fam & user sifmyet w3 UReg Heg over i) et it &
(b) »H THf wiftme =t B gugar I

(c) Toa aBmIH g g9 fefonradt et gardt ot &9 G §
(d) & IEIs3 B faudls wae &t Qu agr 3

An Individualized Education Plan (IEP) is

(a) a contract that must be followed by teachers and professional staffs
(b) an outline for the general education teacher

(c) a plan created for every student in a classroom

(d) a subsection of the No Child Left Behind Act

/10-D
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) mgamﬁm

(b)) T, FSHAT 3T T 7 ey

5 :@gﬁﬁﬁﬁﬂaﬁ?%mfwm

(d) el
aﬁﬁ?ﬁﬁmém(autism)@mﬁiﬁﬂwﬁwﬁ?
) freg HeafSTH femyggg

o) T, F5 9383 T

(c) Wﬁﬁ%ﬁ%?éﬁ@m@

(d) Fofesm

Which of the following has net been accepted as a cause of autism?
(@) Metal metabolism disorder
(b) Measles, mumps and rubella vaccine

(c) Overproduction of the neurotransmitter serotonin
(d) Genetics

?ﬁaqu@iﬂﬂ T3 STTagrar aret w=it Bt UEaH H 37
(a) W@W—r |

mm@mmw@@ﬁmﬁeﬁmmaé
(a) AU WEIE

* (b) 9YEIHR HBEE
() sfeqénfex
d) BT Hota
Which type of evaluation identifies children with special needs?
(8) Summative evaluation

(b) Formative evaluation

(c) Diagnostic evaluation

(d) Continuous evaluation
ey ————

(25) [P0




65. W—mﬂmw,ﬁ@mﬁma‘—_gﬁﬂﬁﬁwmm%l

(a) ﬁ@ﬂﬁmaﬁ%ﬁmmﬁm

(b) ﬁﬁmﬁaﬁﬁ?aﬁwmﬁaﬂﬁﬁmﬁ

(c) ﬂ@%&iﬁﬁmaﬁmm

) ﬁ%ﬁ%ﬁqﬁgﬁﬂ&?ﬁﬁﬁﬁﬂﬂﬁmﬁm
ﬁau%@%m@ﬁ?mﬁﬂga%fwﬁmmmﬁl
(a) feAm A= Bl WO

() e i Jag TG 895 <9 I9l

(©) Sfhy St warefHE HEBST BE W7

(d) arafia 23 B Fofes FeEH! € €93 F96 I AHIE

assessment provides information primarily about

A curriculum-based
students’

(a) eligibility for special services

(b) progress in acquiring specific academic skill

(c) aptitude for future academic success

(d) ability to use assistive technology for academic use

66. TR T F S ThAlh
(a) R GEY] W I ot 8
(b) e F Rigia $ AR HWH @
() qﬁmwaﬁﬁ@a@ﬁmﬁazﬁmﬁaw%
(d) & Reeht 7 e weER 1 i wrafin e 8 2
fegrg Hu fég =gt At ISt
(a) =] nizg-Tenadles ssas
(b) fiue ¥ fos § foua= a9
() Hafeforiss mHfr €t e wgz & dws i 9 MY 6
(d) 7 &9 faiy famn <t Gude Seftmféer as I<t 3

The techniques used in behaviour modification

(a) stress on interpersonal interactions
(b) employ the principle of learning
(c) are capable to a very limited range of psychological problem

(d) involve some sort of operant conditioning
/10-D (26 )
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67. O RN &, I SRS ey e 2 AR
(a) T IS

() TH & YR ¥ fore warms gt

() 3T 3 T S ) Sy et fapr o

saadie fetenadinrt § slamy fineGe g mis I 97t 3

(o) FUTH MET

(b) i 3T 3 993 AW I 9ee

o T § ST wee st mofew saat

(d) o< BET gL TR i St gadiE

Teaching concepts to students who are blind should include
(a) tactile experience

(b) primarily lots of verbal description

[c) assistive technology to improve hearing

(d) teaching strategies used for sighted
68. T 6 g fuem ufei (PIED) feh grr am =i 7 &7
(a) WReE gAatg 9Rwg (RCI)
(b) fevafame™ aFem swm (UGC)
() T Siferr srgEuA 3R SR e (NCERT)
(d) e wreafies e 5 (CBSE) ~
e fedilfes Hgams we f fSREESS (PIED) Twiar &g ot fomr
@) TedEns Fas we g (RCI)
(b) weteafret qen afims (UGC)
©) ¥os aEfiTs #e Aganss [IRaY %8 f6ar (NCERT)
(d) oedt Adsdt fitfuwr 598 (CBSE)
Project Integrated Education for the Disabled (PIED) was implemented by
(2) Rehabilitation Council of India (RCI)

(b) University Grants Commission (UGC)
() National Council of Educational Research and Training (NCERT)

Ml Board of Secondary Education (CBSE])

/10.p
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Esgsicisa, r_fm_l;:g

oo oo 5§ i, e 5 e A e B g T ey _

(a) gl =1 firgra

(b) fvreafts = fagra
(c) wmfier @ g
(d) st =1 frgia

F fa fire = wdtzans fsadls = 0s off

(a) Umadl @ AU

(b) yERwR = fAus

(c) "SI T T3

(d) wIswefizT 2 fAuts

Which of the following is not a principle of universal desj
(a) Principle of Presentation

(b) Principle of Expression

(c) Principle of Involvement

(d) Principle of Participation

gn for learm'ng?

(c) o I gEfRe 3t =
(d) T 3R T8 Frem
ygErEt fHfep wrAEdt gealdt 54 372
(a) Tegnis yIifsusr vz = dfufes & =3
(b) 2wz fagat 3 T2 &3
(c) T35 »mmft za@ »3 vge
(d) FUHS W3 AUEE §3E
Which one of the following is not an effective pedagogical strategy for the
inclusion of students who have a severe visual impairment?
(a) Use of computers to give visual representation
(b) Felt books and felt boards
(¢) Three-dimensional maps and charts
(d) Speaking clearly and explicitly

/10-D |28)



7. e 3 AR Regin % s <y o e e 27

(@) 78 {37 Sﬁlﬁﬁ'ifiaﬁwﬂﬁﬁ;ﬁm%;ﬁm%%;qﬁ rdl 3TNt Y =ed A R
T, 379TY FY 1 3970y 50 B2 cm——{r a1faw

(b) & ST I 3t AT reafes gfy 3 dier oA HE R

() TE TS A T B 35 oy gopefard) 7l 3 3

(d) T8 achTet TP T e

gafes © Hafforias fAus @ wignrg, mug-diar <t gher &t I7

@) Tome w3 U § meig qger 3, wg A wet 3 R (id) IR §
Geaardis w95 S O & =95 F95 oY AT 9W oA d

(b) F9-wESEE o (id) »3 et wEe HAE fegad fewdl F9wr I

(©) Wn@ﬁ%ﬁ}hﬁéwmwmmﬁ%éﬂaﬂ?%

d) feg 393 Agw & Har ager §

According to Freud’s psychoanalytic theory, what is the role of superego?

It establishes the rules and prohibitions, telling us the right thing to do
using guilt to override our id impulses

(b) It mediates between the unrealistic id and the external real world

(a)

(c) It works out realistic ways to satisfy the id’s demands

(d) It demands immediate satisfaction

72. Toqm 2
(o) TR R
(b) St TRATER % Uy g3
() et o gadieh 1 g S STTTRT TR ¥ JET B Fehell @
(d) FHRIHR GifRaT I THRICHS SRR & W1 Sigr
fem &
(8) Y=THGRE desensitization

(b) fesran e =t Jfowr
() foit wewry femarg o wefTs (@ 2 wagdt § Sefe

i

f (d) e sergrang feegg @ & Vi Aga=SHE Ty AT
/10 ————
0 (29) P10,




/ o
Extinction 18
(a) systematic desensitization

(b) what happened to the dinosaurs

(c) removal of any reinforcement that might be associated with an unwanted
behaviour

(d) pairing & positive response with a negative behaviour

—’_’—’_’_’/’_’_’_— 4
73. %mﬁﬂaﬁ:ﬁﬁamﬁméﬁ@@ﬂqﬁmaﬁmﬁaﬁmwm

(a) 13 fagsy, 2004
(b) 13 feEsy, 2005
(c) 13 fegst, 2006

(d) 13 feasw, 2009
ﬁﬁwmﬁwﬁrﬁ%mﬂ*a@ﬁmmﬁﬂwmaﬂ?ﬁwﬁ?

(a) 13 ©HEd, 2004

(b) 13 =H=g, 2005

(¢ 13 =ud, 2006

(d) 13 =TH=d, 2009

In which year was UN Convention of Rights of Person with Disability held?
(a) 13th December, 2004

(b) 13th December, 2005

(c) 13th December, 2006
(d) 13th December, 2009

74. TR i A i i, e H __ H B
(a) &wfem
(b) wmufies
(c) wouft
(d) s
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Methods like interview and mailing are _____ sources of data collection.
(a) sampling

(b) primary

(c) secondary

(d) observation

_;ﬁm%ﬁaﬁ%ﬂn-mm,mmaﬁmﬁﬁ"ﬂﬁm%?

(o) SRR STTHET

(b) RIS T

(c) ToraTes STgEYH

@) 3w a+h

35 oot £5F frot B e B 9 A 59 oG 37
@) g &

(b) ZTITEIHI A

(©) ez fargs

(d) Budgz wra

Which of the following researches comes under the category of developmental
résearch?

(a) Applied research
(b) Descriptive research
() Action research

(d) All of the above

(31) [P.T.O.



76. twﬁasﬁmm’,ﬁw%ﬁmama;%hm%?
a) Tl

( |
(c) Trwrd | |
(d) @rEwiie ‘
g wdt it (Education for All) fAfimr 3 faa3 ufrs & weer a7

(a) T

(b) fenadies

(c) »rafEa

(d) UOI<IHS

Education for All’ comes under which dimension of education?
(a) Political

(b) Individual

(c) Economical

(d) Universal

77, Frafafaa 3 ¥ fen i sA- Ry e 78 22
() Toen =aReTa e W SR o @ R g 3o R wiid g @
(b) Ten =aftvea % wom TP W 9K < 8
(c) T uw wiwan & ) afieniies wpetl fren % 9§t @ @ 2t 2
(d) fem, safs % siiew 1 amarall &1 WL w2
i ot I Tl faiaret 129 faog Fe &t 32
(a) fifmr forefias foarm 2 f9 3t § faw o5 Wi Gadt wd sddft 3
(b) Al b3 2 Wyss foam '3 H9 & 9
(c) Tt g yfsfonr & § 9mf wadt Aret 39 vsu 31 9
(@) TAfer 3 fenadt @ »ivg dees=t § a9 gt J
Which of the following characteristics of education is not true? I

(a) Education stresses the individual development leading to soc1al
upliftment and progress

(b) Education emphasises on holistic development of personality J

(c) Education is a process which ends till formal schooling years

(d) Education actualizes the potentialities within a person
/10-D (32)




3. 31871 SiCE| a‘ﬁ LRI EF| afey = - 3

7 ot " 3} e [hE (8T R P
(a) STH
(b) G
d) ngret el

fife =8 T 1t 5 w5t gz wmy £ s 31 fow 2 feg famrs T fom 3

“BEducation is not a preparation for life but life itself.” This statement is given
by
(a) John Dewey

(b) Socrates
(c) Pestalozzi
(d) Mahatma Gandhi

79, TEEM 21 T AMAR W ___ & &Y § ] Srar &l
(a) e Al e
(b) s fagm
) e fagm
(@) fapit
TERH 21 & w39 '3 Aifenm wer I
(@) iy <t e
(b) 385 fizam
©) gde fizau
(d) fiaaft

Trisomy 21 is more commonly known as

(8) Learning disability
(b) Down syndrome
(¢ Tourette syndrome
@) Epilepsy

/10.p
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80. el § 8 H wig 1 e 4 WO 82 |
(a) E{ﬁaﬁzwmamﬁwmﬁwaﬂtm,m%q&umwrmﬁaﬁ%
(b) 3 wft fifyfrt 5 srftn W wrh T Sied
() 3M3IF T arfeprgor, wiyemor it dwYA
(d) S @i
fivE & yfsfonr fg 35 fofmt & faaar mis der 32
(a) US® w3 53 gugfant o HHBAS m3 Hass, adi =6 58 U
(b) €T wurt arfififbort WS T5 3 fevadt 3 waTEl ygw ESEmT I8

(c) ToT nig=m &y, wgs 3 AU J ‘
(d) Bysas "3

The process of learning includes which of the following?
(a) Synthesis and organization of old and new experiences, resulting in

novel patterns
(b) All activities that leave a permanent effect on the individual

(c)
(d) All of the above
Tl =t e geiamre w1 St gafen ST =IfRT Hifh

(a) 3% 7% 9aT & 2

(b) eFieTE Wit ST 6 g

(c) o cuivae o Fferel bl WwsIeht T 61 W GU L Hhd &
(d) (a) 3R (b) H

nifeus § fefoma waws o winds aasr ot 3 3G
(2) €9 few & ot Aree

(b) femwt w wimEHs ot g @ 35 I
(c) €T TIHG T »aE § AHS & »UE 91 &9 §U'9 99 "ee I

(@) ()73 (b) <2
Teachers should study educational philosophy because

Acquisition, retention and modification of experience

81.

(a) they do not know it
(b) philosophy is the backbone of all disciplines

they may improve their work by understanding the implications of
philosophy '

(d) Both (a) and (b)

(34)




82.

e T T o R 3y —

et SEHGH & s iy e 5

IRk S ———
(b) ﬁaﬁmﬁmmaﬁﬁ?ﬁé@mmm%

(c) ﬁﬁwaﬁ%qﬁﬂﬁi%u%m&%ﬁmﬁ%
d) P CWSN = eg % for Y9t ) syaeren ot 3

(@) TS TEHGH 9 fefdomr 3 ofey & oa qmgH & WS 9T T
(b) iR R B =) S & 2ugrs @@ HaE I

(o) i TERR B3 = dfnt wdh et fewr€E 5

(d) S CWSN & 1o a9s wet Uit &t worfes" B T

One of the main features of inclusive classroom is that

(a) teacher organizes classroom with the scope of heterogeneity in the
classroom

(b) teachers can take care of children with 'special need

() teachers show sympathy for children with special need
(d) teachers seek support of professionals to help CWSN

83.

The ‘Mental Health Act’ was introduced in the year

e T FtE fee s § Y fEm e a@n?
yrafie g3 Wae 7g &g I oizr fomr W

(a) 1987
(b) 1988
(c) 1989
(d) 1990

710D

84, U WS T i Ug=I FrAtetad #§ & e foran g ot o weedt 27

() ot wem w1 wdt wem &

(b) Twen W it foem =6

(c) Irhal & qEll A T7W F

(d) feredt ft woean o1 safeya alis ¥ TR F

(35) | P.T.Q.



&5 goa3ua fefem
39
(a) i s o AT S

A creative student can be identified by which of the following actions?

- stion
(a) Giving correct answer to a que

(b) Expressing original ideas o1l the problem
(c) Arguing with others anxiously

(d) Solving any problem systematically

85.

frafrfeq 9 @ sA-41 e ST UM, 1995’ % d&a fasharirar 13 & g 1 27

(a) e

(b) wife =it 6 iR B Tl @

(c) WM Hedl

(d) =it R

conler - 1905 3 SRS wlars WA @ ey ¥y 35 fafanrt R e 9 39
(a) wiferH '

(b) Bt =fzr

(c) HafAa aHwdl

(d) Fwe At fearg | i

Which one of the following is under the purview of the term ‘disability’ under|
‘Persons with Disability Act, 199577

() Autism
(b) Cured TB
(c) Mental retardation |

(d) Speech disorder _

/10-D (36)
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g6, NEP 2020 HYE AR F Fegy =
) arertied R
o) o F0 FETH
) SR T
) THA o TSI

NEP 0020 3J7EC JHT & I I o
(a] WQTFEE ﬁ:ﬁﬁ -
(b) 3T, d. E’ﬂé’ﬁ?ﬂ]’c‘i

() SHT TS HIHT

who was the chairman of NEP 2020 drafting committee?
(a) Kailasavadivu Sivan

(b) Dr. K Kasturirangan

(c) Prof. Yashpal Sharma

(d) Prof. G. Rajagopal

| —

g7. %1 M & 7 UGC, NIEPA, AICTE, NCERT 31T 318 Tl weedl & Heami =i
e frem worehl 1 ST &3 A weg s 3 forg wereg foeen s =R
(a) HISHT SR (1964-66) |
(b) TEE TEEEEl EE
) Teormmem it atfufem, 2016
(d) weE fuem ifd, 1986

__ freon sger § fd 9wWedt HdSE © HAES fA= 19 UGC, NIEPA, AICTE, NCERT
wita & aHed o fiffimr Yot § wierg S € T 58S BE) HEES Al AT SHIE o
(a) d&<t AHHS (1964-66)

(b) FHedt yrsgH SR

() =T Wae 2016

(d) AR '3 et SIS 1986

recommends that institutes of national importance like UGC, NIEPA,

AICTE, NCERT etc. should be strengthened to enable them to give shape to
national system of education.

() Kothari Commission (1964-66)

(b) National Curriculum Framework

(c) Right of Persons with Disability Act, 2016
[d) National Policy on Education, 1986

/105

(37) [P.T.0,



88.

qﬁwqﬁmw%ﬁlwﬁﬁ%wﬁ:&mﬁﬁh—wmwm%?

(a) FSHT
(b) ST

() R

(d) 33N
At g w3 Fee UTa © nifeus WSS € Heam 9 faae FEH YR J?

(a) WAsES!
(b) AUGSIIS ‘
(c) Tmardl
(d) ¥
Which step is prominent in the syntax of teaching model of memory level;
and understanding level? |
(a) Planning

(b) Generalization
(c) Presentation
(d) Exploration

0

89.

af2 foreft e 1 e 3 IS TR s e, @ @ T HET AR

(a) == T IV B

(b) == H gfed

(¢) W YgH

(d) s= B g w4 S ATa-fier & s 6

S ity wiftmma § T 5 59 i =T Sor fieer 3, 37 6RE o ser I
J?

(a) ©9 § BHanieH qJ

(b) €9 8w fe€

(c) AT y=s a9

(d) ¥9 & wg U 1 w3 Wit 773 i &9

If a teacher finds a problematic child in class, what should he do?

(a) Ignore the child
(b) Punish the child

(c) Provide counselling
(d) Send the child back home and talk to parents

/10-D
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[90. b= &1 37, Pefihen § 3 so——— __—

) ﬁﬁﬁﬂﬁ%ﬂmq'@%?
(a o gataT

(b) wREE

(c) F=T IR Freifiehy

(d) STEw T
.ujmwmﬁﬁﬁwm-ﬁﬁmgaw@a?
(a) 3B TI=WS

(b) »rETTE

(€) HI& W3 IAESH

(d) U3 "Q

Accessibility means equal access to which of the following?
(a) Physical Environment

(b) Transportation
() Information and Technology
(d) All of the above

91. RPWD 3tfufem, 2016 % 3ER s i == 22
RPWD %32 2016 & WgHT foadns yFtmssr & 32
What is reservation percentage as per RPWD Act, 2016?
(a) 6 '
(b) S
(c) 4
(d) 3

92. ‘e’ FTT 27
(a) ﬁaﬁ%%@%
(b) =T < forg wen-fora =6t yumeft
(c) &R grr SuFI R ST STeT U WehR o1 ITehu
(d) 39w d & %18 78l
995 off 992
(a) 3gdfie S s AgS
(b) I3adte Bat vt ugs foue & yzrel
(¢) TIgfte Sat gwrar =adt wel fea fam &t feamty
(d) BuIas &5 gt ot

/10-D (39)
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93.

What 18 Braille?

A school for the blind
system for the blind

d by the blind

.-

(a) .
(L) A reading-writing
(c) Atype of device US€
(d) None of the above

ﬁﬂﬁ?ﬁaﬁﬁﬁaﬂq,ﬁﬂﬁﬁmﬁ@wWﬁ%ﬁWqﬁ%?

(a) B
(b) ErErEiRhll

(d) WSS
Which of the following is no
(a) Objectivity . _
(b) Reliability g B
(c) Validity " .,
(d) Ambiguity

t a characteristic of a good achievement test?

94.

gt e

(a) T A WA i SieHfed FA 3

(b) H et < Ruam wfhe &

(©  zfr w fa wgt o fveres wfiret 2

(d) e 3§ Tl i Sieatea H @

At R |

(a) w3 TrET Yfafanret & Gowfas wut J
(b) J& T HAZ WHG a'o'é qf

(c) THMIFS Ay & mitmud ATHS T6
(d) &M f&9 fefdssr § Ufss geer 4
Inclusive education

(a) encourages strict admission procedures
(b) includes indoctrination of facts

(c) includes teachers from marginalized groups
(d) encourages diversity in the classroom
=y
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(95, fmfiEd # A FH, m =5
(a) TerebTE w8
(b) e feamens
(c) faehrd G LIECRET b
(@) o it @
fegs’ fedl 903 oW w3 fem o firgig ot 37
(a) fea™ fod3g Jer &
(b) feaw fewsHa J
() feam »is T
(d) feaw wa= fenma 9
Which of the following is not a principle of growth and development?
(a) Development is continuous
(b) Development is directional
() Development is irreversible

(d) Development is universal
06. Freiiad 1 A H, S e & dre e = 1 fert T 27
(a) o= TV HERAG
(b) &= Tt I FfiHTr X THd &
(c) o= aqa! B FUEG B THh &
(d) == Te 3 FR H I HEh T Bl T HHBA &
Jot 153 55 faomr Quana fead @ 50 TonHis yam <t feimsT &4t 372

() ¥9 He™S I HIT I

(b) Y =AM T =gdflads a9 HEE I6

(c) H9 TAZN § FHET II Hoe I6

(@) 43 3fes w3 A & =3 F9a Wi § 95 59 AR T
Which of the following is not a characteristic of the concrete operational
stage of cognitive development?
(a) Children can conserve

(b) Children can classify objects

(¢) Children can seriate objects

| Children can solve problems using trial and error
/10-D (41) [P.T.O.




(d) USRI KL

= maga & fws &9 3o fod RS 19097 Sfawr feamr o vamor ot 212
(a) yaﬁ’umlm

(b) udugars UTd

() Ure-SaeaHss Yud

(d) ufssasaHls ¥ad

Which of the following is not a stage of moral development in Kohlberg’s

theory?
(a) Preconventional level

(b) Conventional level
(c) Postconventional level
(d) Transitional level

gt Rrem ify (NEP) 2020 % d8a Theil To=ihd & foTg STguifi Se= 991 87
IHedt fiffimr &t (NEP) 2020 2 393 AgEt uagH ot fagan &z faprr wigr ot
I? :

What is the recommended structure for the school curriculum under the
National Education Policy (NEP) 20207

(@) 10+ 2
() 5+3+3+4
(c) 8+4

(d 6+2+4

99, e # wrTa & waw & wf Rrer AR (NEP) 2020 w1 MAfH BIHE HT1 27
(a) T31am & Tem % w9 F Faa wch Y aeEr e
(b) ¥ 5 3T 3EY M T T e % IUT I NiHTRd BT

(c) UIGTHA & &I WISt wY g
(d) sy w9 § T WIsT % IqER i STErE ST o

(42)

98.
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i T IR T wey &g TN fiffper 2 (NEP) 2020 €7 Wy Zam & 32
(a) SR et g fiffinr 3 W =3 Qg

fog ag&

(b) 3135”@m§8“’@awmaﬁaa§%@mw
(c) mgwfé’%ﬂaa"rmgmaw

(d) &ﬁﬁﬁaémm@%ﬁ?gwﬁm

What is the primary focus of the National Education Policy (NEP) 2020 with
regards to languages of instruction?

(a) Promoting only English as the medium of instruction
(b) Encouraging the use of regional languages up to grade 5 and beyond
(c) Eliminating regional languages from the curriculum

(d) Mandating the use of classical languages exclusively

100. fezi s=41 o o waesht wiewsn R @1 weg 2
(a) 3% gEEUTT A en & stem wen
(b) e MR AT Bl HaRd FHe
(c) e 3R Rrm T TUH wE9 Hi FemE= 3
(d) &t forhetiTenat % o T Wehisha YIS e St
fezarar gfon™ Bet HHGS UagH feam = §9n §
(a) 835" & W Tor o fiffewr 3§ 2y 99
(b) TS Adtes wmigEa= § Fius =9
(c) i w3 fifue et warag vde § Qzwfas s
d) Aol st wet e fimrdt wagH Yo 9

Inclusive curriculum development for Children with special needs aims to

() segregate them from mainstream education
(b) address only physical disabilities
() promote equal access to education and learning

[d) provide a standardized curriculum for all disabilities
/10-B {4) ~ [P.T.0.
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101. 34 |
(a) o Ry G T TEA ST

(b) WﬁW%WW

R m;mmﬁﬁmﬁ@wmm

d) ﬁﬁmﬁ@mﬁﬁmaﬁmm
%meﬂwmm?@ﬁwﬁ?aﬁﬁ?

] @“gfﬁwﬁna@é'amj?@@?

=

(c) nﬁnﬁgﬁrwﬁ@%ﬁfﬂhﬂ@@??ﬁmm
(d Q@Wﬁ?ﬂ?n@ﬁwémw
goal of national policies related to higher education?

s to higher education institutions

What is the typical

(a) Increasing acces
(b) Increasing vocational training opportunities
ality higher education for all

(c) Expanding access to qu
(d) Eliminating research an
102. CWSN & mwmﬁ,ﬁmq@maﬁwé? -
(@) o forerl % R R TG ]
(b) %gﬁﬁﬂm%ﬁaﬁ@ﬁwnﬁfaﬂwﬁ

(© e i 6 e 8 o TR 0 ) G e 7 O €
(d) TR, CWSN 3 fore wrafies & 2
cwsmwmmﬁﬁa,ﬁﬁmﬁ@'g@ﬁ%?

(a) feg fiffme ot 8y T 89 =@ 9

(b) @UWW@@%ﬁwﬁﬁﬁvmﬁfﬁﬁmeﬁmaﬁm

(c) W‘Wﬁﬁmmw@mwmﬁwmﬁqwaﬁ
(d) ¥SEE CWSN BEt ga=t &d1 J

In the curriculum design for CWSN, why is ongoing assessment essentia

d innovation in higher education

(a) It increases the workload for educators
(b) It ensures that all students follow the same pace

(c) It helps monitor progress and adjust instruction as needed

(d) Assessment is not relevant to CWSN
/10-D (44)




Wﬁmmﬁwmmmﬁqﬁmﬁmmmmw%?
(a) B 5 ! RIS S i wer s

(D) wﬂm%aﬁamaﬁ(mﬂmﬁwﬁmw

() Ol % s WIS W9 5 whifivg a

(d) Tors mervEeRat AT A= % sremre = e T

95 T A9 & HUST &t I7

() fefemmadi 9 st yHitaer o wris e a9

(b) A f=feadlf 52t Afug w3 wfg & g=or § GIATIT FTE

) fefenraatf fe9a mrfae wanyg yare & Hivs 96"

(@) fefim 857 =8 St § wa-gdar oo st GRS T9o"

What is the biggest significance of fostering a positive and inclusive classroom
culture in inclusive pedagogy?
(a) To create an environment of healthy competition among students

(b) To promote a sense of belonging and acceptance among all students
(c) To limit social interaction among students
(d)  To encourage isolation of children w1th spemal needs

104, feeain =it &t wgeA § 3fie S Y T g 87

(a) TG T HEMATEAD FEAAT FGH HET

(b) eI WEEAT AR FHIET TG HA

() Temaim st =1 Dfirer fewq T =T FET

(d) wae Seafires Iumfey fuifa e

fezaiar dfewt <t ygte few wours! AEiféar & &t ghar I7
(a) EmE T g3 3T TUS YT 995 Sl

(b) 393 WIesT w3 w¥E yge 96 BE

(c) fe=miar sfgnt § fefena Afar & w9 e

() =8 sErefia yudt fsauas @95 S

What is the role of early screening in the identification of Children with

Special needs?

() To provide intervention until later grades

(b) To provide immediate support and intervention

() To exclude Children with special needs from educational settings

[ To determine academic achievement only

. By
'10-D
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105.

ﬂfw@ﬁ,ﬁwﬂmﬁwwﬁmmaﬁmmw%?
(a) ST ) farfEa e 3 I Ffed s

(b) wwh gfeefe (1Q) fwifa
(c) H@Wmaﬂ?wﬁﬁaﬂmﬁ'@hm

(d) a%g@mﬂaﬁm&ﬂaﬁﬁwm
ﬁ@ﬁﬁ%féﬁ@%ﬂ*ﬂﬁﬁ%ﬁwmmwﬁu@%ﬂaﬁ%?

fafmirgeort § BES BIGET 13 T FIET
(b) €& <t intelligence quotient (IQ) ﬁ,—crcrrag FJ&5 Bt
() fogona tradel 3 AITES dt mareel w96 SEl

() B § v T 2 FETHGH I < T
ose of assessing Children with special neeg,

(a)

What is the primary purp
educational context?
(a) To label and stigmatize students
(b) To determine their intelligence quotient (IQ)
(c) To guide instructional planning and support
(d) To segregate them from mainstream classrooms
—

106.

i 5=t <61 TR Sglere I AR 7
(a) e SfRAT I W FAA TG

(b) fafers el o it ST F &

(c) ﬁﬁam@%mﬁﬂ@mwﬁ%@

(d) =i e WORER R R 37 o F el
méﬁbﬁeﬁug'eﬁqﬁqﬂg—muﬁ?uﬁﬁwﬁgﬁ?
(@) WoEE Yfafen § Fow FEEE BE :

(b) Ji-F Ui=g’ © fypdide’ § 09 ¥ TE

() fefds B3 3 w9 fedst 595 TE

() Sfanit Soff &=t § s fem I st Sug garge

Why is a multidisciplinary approach important in the identification of Child:

with special need?

(a) To simplify the assessment process

(b) To exclude the perspectives of different professionals
(c) To gather diverse insights and expertise

(d) To label children without considering their needs

/10-D
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107, NEP 2020 % I i o

T oo 37

< STRTES ~ 7T 37T 71 7

EP 2020 ¥ NEATT ' 21 |
" 1 ) F@&T ret‘{ ﬁTf%‘F?m ANar )}{ﬁmmm.-f?&”ﬂw MEU™S #t a2
what is the recommnyey I e ‘ |
20207 S teachf—‘l'~3tu(:lcm ratio in schools according to NEP
(@ 1:30
(b) 1:40
(c) 1:20
(d) 1:30

— X

108. NEP 2020 ﬁxmﬁw@m%ﬁm%?

(@) mﬁﬁmﬁ&m@aﬁmﬂﬁﬁm@am
(b) W—mﬂaﬁ]&naﬁmm

(c) Waﬁmﬂmﬁa—mmﬁaﬁmmﬁﬂm
(d) Fﬁ@ﬁﬁmﬁmﬁﬁ%ﬁ@mm

NEPQOQOWW%W@}Wh@Wﬁ?

(@) T 2o \de 3 Qunrtrg g

(b) Ee-HUTe3 fymrd & Bawfom qusr

(c) m_m:—ﬂm%‘?mmﬁq—hfmﬁgﬁﬁw '3 W9 I
(d) fﬁ‘%eﬂl{hﬁwﬁqmmﬁétmﬁwémm
How does NEP 2020 advocate for a shift in pedagogy?

(@) By encouraging traditional teaching approach

(b) By promoting memorization-based learning |
(c) By emphasizing experiential and critical thinking-based learning
(d) By eliminating student engagement in the learning process

109. Trmtfvieh freror frgia, sreferens fien w s 3, gaf 2
(a) o THo fEEm B

(b) Feel Sgu @

(¢) S fama @

(d) o uiewar &

/10-D (47)
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WWW,WW%%%@%,mwgﬁwmﬁ‘“
(a) diong, Afasd
(b) wEEde HFT
() e urdidie

(@) Bfew Efoans

The social learning theory,
with
(a) B.'F. Skinner

emphasizing observational learning is associate

(b) Albert Bandura
(c) Jean Piaget
(d) Erik Erikson
110, T TRITIEE 3 AT TR ST AT T SR 33 §¢ On Becoming a Pers;
frarg?
(a) ot et
(b) o Tho &R
(c) e HEAl
(d) el U |
Tt 3 WS Wafefims w3 AR-Twsfeasr 3 W9 Y T G
Becoming a Person faftm?
(a) feged Tdas
(b) HohgAfass
(c) MEgfaH HHS
(d) I98 IAIH

Which psychologist authored On Becoming a Person, emphasizing humanistic
psychology and self-actualization?

(a) Viktor Frankl
(b) B. F. Skinner

(c) Abraham Maslow

(d) Carl Rogers

=




@m%wmmmmﬁmmmwm
"

(a) freren! & TIC SR sgm;

(b) qiam % RO I A e

(o) B A TR F R 3 v i g ) TG
(d]1%&Tﬁ3ﬂﬂhfﬁﬂaa‘Nﬁﬁﬁ?aﬁgﬁﬁgﬁ%aqﬂqr

 wige 32

(a) Tiftmie TE & T §% 20z

(b) ufeed € fgrdiast § g99 des o

(c) WWWM@WH@WM@WE@@EW
(d) WHW@WBWW = |

What is the significance of involving parents and caregivers in the evaluation
process of inclusive education?

(a) To increase the workload for educators

(b) To exclude the perspectives of families
(c) To enhance collaboration and understanding of students’ strengths and

challenges
(d) To discourage parental involvement in education

2006 , fava wrey wreT (WHO) 3 sHrisome, ﬁmwmaﬁwmmﬁ@amﬁam
(ICF) %1 fépam| ICF =T WTeifireh wiehe #1287 gV ,

(a) Tufredr feufaat s arfietor s
(b) Tempetimar & @mTies Aise W SR ¢l
(c) Rewwfia yenasfl =) wgmEn &

(d) vaferofir st 6 U&T AT . -
2006 39, =953 Jog »adaeaEs (WHO) & IanHIsaT, ?HUETS’T?}EfH?B(ICF)ET

"3FaHedt =gaflags Um dgTl ICF =7 Hy &am off &7
(@) Aty nfadyt @ =dafiads

(b) »yrgsT & myfag WSS '3 W9 &7

(€) Seud} wifgwt & Gawrfas F967

) =TIwge & qaat o weH |
e [ 49] [P.T.O.
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In 2006, the World He'a]t]zl OT%?;HIZJ&_‘FD“ (WHO) introduced the Intcmational
Classification of Functioning, ability and Health (ICF). What is the primary
focus of ICF? .

(a) Classifying medical conditions

(b) Emphasizing & social model of disability

Promoting exclusionary practices

(c)

(d) Disregarding environmental factors

113.wﬁﬁ—mwwyﬁmﬁm%mmﬁmﬁﬁﬁmﬁmm
T e i B 87 \
@) WWW#WWW(NIEPMD) \
(b) s €9 & Tl & o U e (NIMH)

() e sedie Fite wite e fer (NISH) \
d) Yerer Seee BT ¢ sieiufesell EEihTE (NIOH)

mAeEtags '3 S=fdg I7

(a) FT-wia Teniadni € AHASEGs BT THEH HAgr (NIEPMD)

(b) e 39 '3 HHauz o dres fERdfege (NIMH) .

() BAss fendfafe nre miiv #iz dhifdar (NISH)
() e FRdfsle o9 T wreRifsadt $EHRUE (NIOH) |

jWhich National Institute in India focuses on empowering persons with,
intellectual disabilities through education and rehabilitation?

(a) National Institute for Empowerment of Persons with Multiple Disabilities|
(NIEPMD) -

(b) National Institute for the Mentally Handicapped (NIMH)

(c) National Institute of Speech and Hearing (NISH)
capped (NIOH)

R

(d) National Institute for the Orthopaedically Handi

/10-D : ' (50)



114.ﬁm‘wgh@@m’@m&ﬁ%mwmﬁﬂﬁaﬁmm%?

(a) =g emam

(b) AT TFw fomm

c) S s

(d)  sreor SrEEar |

fem vt S fow v €9 fovmdt wurgr eouw g3t § Hafag sodt 9
(a) Sfux wWAHIEz=

(b) wifery AUIeH fammasg

(c) fegw® IHwdt

(d) " < T

The film ‘My Name Is Khan’ addresses the challenges faced by an individual
with

(a) intellectual disabilities
(b) autism spectrum disorder
(c) wvisual impairment

(d) hearing impairment

115.

RTE sififan % el #, ‘wed fen siftem (SSA)WEI?FITEH%?%?

(a) T UL DA FHREHA

(b) wfirer fregn <6t AT S99 & fou vk TqE HEHH .

(c) U= fners wiieror gge

(d) U UsiEL e JeE |

(RTE) #ae & Heds f&g ‘woe fiffmr wienrs’ (SSA) mee = ot »igg 37
(a) foa It Rarsafay Yo _ :

(b) MWHW%@EMEWW

() fEa wiforina fayset ufos

(d) fea Tawas fRfir weftH

What does the term ‘Sarva Shiksha Abh1yan [SSA] refer to in the context of
the RTE Act?

(a) A national scholarship program

(b) A flagship program for universalizing.elementary education
(c) A teacher training initiative
(d) A vocational education scheme

/10-D (51)
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Jus. mﬁﬂﬁﬁﬁﬁwm%’mmﬁﬁmﬁmma»,ﬁmﬁmﬂm?
| (@) ¥ SINGE

L b) geh Aee

(c) Jef o el

(@) geh &v foeme

(@) HHEt s BEES

(b) HH fHes
() Hrt Is asg
d) et Ear fgmis

Who quoted, “Blindness separates people from things, deafness separates
people from people”?

(a) Ms. Anne Sullivan

(b) Ms. Michel

(c) Ms. Helen Keller

(d) Ms. Laura Bridgman

117, Frefafag 3 3 FH-d, w Ry fen wsterr 6 sg@ i 27

(a) T wu 4 Qailder I W SR Hig HE

(b) O T T TR i @l FET

() =T AETE S % T Rrer, SR S @ 3 W e w

(d) e 3§ TETAE venaT | W=

S5+ 93 55 fagr feim fiffter wergars < ¥ ghiar 37

() feim 303 wrarehm Yt 3 s S92 S5

(b) feferradint & searsia Jegrdl § FHTWEH I36

() fonadiaE e voge BEt HimmyaT, Hifipt w3 fefonrae 38 AW
IIoT

(d) IBHgH &9 AHfez wfewmmt 3 s9

Which of the following is a key role of a special education counsellor?

(a) Exclusively focusing on academic achievement

(b) Ignoring the emotional well-being of students
(¢) Collaborating with teachers, parents and students to create individualized
plans
(d) Avgjding inclusive practices in the classroom !J
/10-D (52)
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i ‘__-__-'_'_"—'-—-——____ o = =
%ﬁ“m?’”@'?ﬁf‘%ﬁﬁmmﬁ‘qshaﬂzqmﬁggmﬁm—?ﬁﬂm?:@mw‘rwrm
TS A T F1 HEE R 7

() 3 == Rl 5 o -y 2t ZEU

(b) mTa-Toe = s am A aw g

() WEEm SR A % o T gl ) e

() Forem & wre-fr 6 wied #t gawmti we

ferm &=7 T8 Afon S aareens w3 worg fafour 29 Wi 7T 299E 996
Zfent § AHS 398 T ot sz 37

(a) »E WY Tt TEI TR Wit § 3 sfoe@e

(b) Wi § fefowa w39 ¥ srg9 g

(c) ﬁﬁfﬁﬁt*ﬁ%mddbaﬁi‘é’o{ Hygs ude § Gsmrios 995 IE

(d) TAfmr fE8 Wl < mudnz § foam qoar

What is the significance of involving parents or caregivers in the guidance
and counselling process for children with special needs?

(a) To blame parents for their child’s condition

(b) To exclude parents from the educational journey

(c) To foster collaboration and a holistic approach to support

(d) To discourage parental involvement in education

119.

‘Menarche’ ¥isg T AT g

(a) TISHIH AT h Yo

(b) wrefmdl # Ja i IeaTa

(c) wiewhi o meafie I TeRiwara i S

(d) erefral 4 aroafi d Rt % fomm

‘Menarche’ 92 ¥ =" fdr 9

() Hfowt fSw Aerdt < HIw3

(b) it ¥ melt & mgre

() Wi i Adadt frroeft fefmeret o feam

(d) Bt feg izt frart feima=r = feamw

The term ‘menarche’ refers to

(a) the onset of puberty in boys

(b) the onset of puberty in girls

(c) the development of secondary sexual characteristics in boys
(d) the development of secondary sexual characteristics in girls

/10-D (53)
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7 = ___’___.4———’-'”_‘—__%\
S SgU o fereh S HISTES RIS g 1, e 3 3 - T S S R
(a) anfeqy sireiad

(b) T ST

(c) e fafaar

(d) s HiFeTE
Wﬁ@%m%wﬁamﬁmﬁaﬁsf&ﬂﬁﬁ

(a) EFhnr duBaH
(b) FBdfc= wEeaHSH (Collective unconscious)
() verug fegerfeaaT (Reciprocal determinism)

() fedaer duSaw
Which of the following is a key concept in Albert Bandura

theory of development?

(a) Oedipus complex

(b) Collective unconscious
(c) Reciprocal determinism

(d) Electra complex

fa o W FaBU 2

' social cognitive

- —

121.

et wafep I I=-EE TSRl = AN e

mﬁmmmaﬂ%qa@m%a@ﬂ,
o gFft =nfE? |

(c) BT B
(d) fiprg w3 7Y dhat B3
slow’s hierarchy of needs, which of the following needs must

According to Ma
idual can move on to higher-level needs?

be satisfied before an indiv

(a) Esteem needs
(b) Self-actualization needs

(c) Safety needs
(d) Love and belongin

gness needs

/10-D
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Wﬁﬁm%mwﬁaw,mﬁmﬁm%ww

F 8, FEe §

() WETHRTT

(b) SRR

() HEpET

CIREERIE!

§a yfsfen T Porar fovadt wingd sfwrgrg St gegr—aiHer, femem w3 fomt
(a) AHHIAIS

(b) mHTE

() wafo

(d) =39

The process by which individuals learn and internalize the values, beliefs
and norms of their culture is referred to as

(a) socialization
(b) assimilation
(c) acculturation

(d) differentiation

123.

Tdentity diffusion’ i SFEHROT H1 A &

@) Ve R S B T W

(b) T TE= % Wi Alcrrgan <61 HHt ST ST <Ht et
(c) Temuiitrereen % St vgaW $1 Hehe

(d) =B Feiy s T ST

Identity diffusion’ < gaar = 99" fder 9

(a) V&< w3 Ger & HAgS F=6

(b) f¥a yge Yt =oadue & ure w3 ¥y <t ure
(¢) faiig werer 39 fiq UBe Hee

(d) wadtdt fags ge@e € wteET
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The concept of Gdentity diffusion’ refers to

(a) a strong sense of identity and purpose

(b) a lack of commitment to an identity and a lack of exploration

(c)
(d)

an identity crisis during adolescence

the inability to form close relationships

124.ﬁ—mﬁwagﬁﬁﬂ@ﬂwwm%qﬁq@ﬁamg,ﬁaﬁmﬁm
ammaﬁaﬂtmaﬁwmﬂ#w%?

(a) Fes-eEER. St

(b) caRF-higa TRifehed

() ETEETE HaER feee

W@@WW%&WWH@@E#W%%%%%MW

(d) u& TR

Which therapeutic approach emphasizes the importance of creating an
environment that supports the individual’s unique needs and abilities?

(a) Cognitive-behavioural therapy
(b) Person-centered therapy

(c) Applied behaviour analysis

(d) Play therapy

125. TR fE A =it % Ry arp-wre fafiear i wrfie Biew =1 7
(a) eaforeh Iverled
(b) HTHTRTS THIF
(c) heATcH FAMANR
(d) R B B TG
_—
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FTS 1SS 8 St i mits S W o S A 37

(a) »=fHa Y
(b) AHTHE Tftags
(c) TSIHF YErerar

(d) WIS I57 § =ohe

What is the primary focus of
communication disorder?

(@) Academic achievement
(b) Social integration
(c) Artistic expression

(d) Enhancing communication skills

speech-language therapy for children with

126.‘W@m’mamwm&§?
(2) TSI SITER F FHRIHS TR H1 qRET B
(b) Tft wreERt Ht TSRt wo
(c) THRIHS AR i FITHT wgH F e 38 grepa e
(d) TRl &t & SR == ) STETT-eRT HE
3Hl ‘FeraSHa HagEl (positive reinforcement) WS 9T o AHIR 97
(a) W9J fe=gw oE sa9=HE B R I9aT
(b) 7S feurgt & sHoniew 9w |
(c) €I5" &t He=ar § =wle Bt HagSHe feegrat § feay S
(d) TEHyas uzt Tz 53 § »Ear FI&T

What do you understand by the term ‘positive reinforcement’?

(@) Introducing negative consequences for undesirable behaviour
(b) Ignoring all behaviours

(c) Rewarding positive behaviours to increase theijr likelihoad

(d) Isolating the child during challenging moments
/10-D (B7)
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127, T -G, A aﬂxW
STan %I L1 1

() SATETR fafen

(b) - Fafeeen

(c) WS et SR

(d) STIER WML

gt Ffir-38, JBTS, W3 AW T 35 wny gxg o gr FET 129 AR

fomar Jer d T

(@) wgiwes B

() mfte-Faew gt

(¢ AT Tou Tru@TeEl

(d) fe=ga AU |

Collaborative problem-solving, negotiation and conflict resolution are skills

often targeted in

(a) occupational therapy

(b) speech-language therapy

(c) social skills training-

(d) behaviour modification

128, RIS STavasha Aot o= I HERKl § T el 1 359 w1 8 7
(a) TE S 1 SRR FE |
(b) == <! TG i Wil B
(¢) =R, Tiferstierar an @ i G
(d) TEFTCHRAT FH FHAT Bl TR BT
feiy &3 @8 mﬁmmﬁqmmﬂﬂ?@ﬁaﬁﬁﬁ
() & yaHE yI= § wEET
(b) =9 & wmmrt § HHS 9w
(c) ¥awd, aEtHiEgsT, 7 five § =ule
(d) IIESIH W3 563" § foamm gz
What is the purpose of assistive technology in supporting children with special
needs?
(a) To replace human interaction
(b) To limit the child’s independence
(c) To enhance communication, mobility or learning
(d) To discourage creativity and innovation
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(a) Pramr {3

(b) IS 7 e fa

(c) THT &I UG WS Hraiepy

(d) e 3T sgad fran

It 83 &9 993 NCF @nia fivgrgy o sfigr famr 39
(a) S8 IH= & o

(b) Yendt fAfm wiadsft fig

() s HIT3 g3 UTIHE HBFE

(d) AarSHT I TI-THE fHfep

Which of the following is not recommended by NCF?
(a) Three language formula

(b) Primary education in English
" () Language proficiency based performance assessment

(d) English and multilingual education

130. famr wTarfierar @1 HodiR Reas wei  Rear st =i ?
(a) TTSTEHA el
(b) BT B
(c) BEl % W & Uiom
(d) e ¥ e TERes GwilE S ITE
itz o yereriesr @ gu 9 yeiEE d9 W gt
(a) d9AH I=34
(b) fefenmmadn &t fogemh
(c) Tefenradint @ filvs T a3W
(d) TBHEH &g wifimmus Arost o <93

Teaching effectiveness must be assessed in terms of

(@) course coverage
(b) students’ interest
(c) learning outcomes of students

(d) use of teaching aids in the classroom

0-D (59)
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131, e 3 Freferiag 9w @ allehes 58 H sraferd i T
(i) Tameff =1 FremE
(ii) @& I |l 9 B
(iii) fipamt afk wfafssamd
(iv) Traror 3 gl wiaiskn
(v) wrffa % =) #§ Fug
(vi) IuE qaer TR0
ug@s T Jo3 umet § 3gaHeS g &g feenfag ad!
(i) Tafimredt = fees (Diagnosis)
(i) Sfent w3 AHeEt & fedH J9a7
(iii) FgEt w3 yIifafonm=r
(iv) witnis @t dad
() TBIET T9 SHET
(vi) ©fgs ZaféTr w39

Arrange the following steps of teaching in a logical order.

(i) Diagnosis of the learner

(ii) Fixing goals and content
(iii) Actions and Reactions

(iv) Feedback to teaching

(v) Decision about the strategy

(vi) Appropriate testing devices

Code (F2) (33)
(@) (i), (i) (i), @, (), (vi)
(b) (i), (v), (i) (i), (vi), (iv)
(c) (i), (i), (v), (vi), (v), (iii)
d) (i), (v), (v (@, (1) (iv)

it

(60)
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() BE o HEH 3 qftomy D

(b) BT b TS 5 wad 4 3 oy

(c) DT % W I Y it ey

(d) Terh masficrar w sl wom e

JISIHE HEaE T Qo §

(a) IF fefonradint & fitve & 5y

(b) fefonrad T fius & Y=IHs § 37 s

(c) fefeadhT ¢ yeaws qre &t Ty ggar

(@) = <t ysesT a8 dsia yors q9e
The objective of formative evaluation is to

(a) grade students’ learning outcomes

(b) accelerate students’ learning performance

(c) check students’ performance graph

(d) provide feedback on teacher effectiveness

133.

atifean-fagam fera wer =1 fremor Suereor 27
(2) SRR

(b) =

(c) Tem fg

(d) udw wft

WG - fegns fam famd = foerfedt Fus 97

i

(@) YraeT

(b) IFE

(c) feaH U

(d) Qu3as w9

Which kind of instructional tool is audio-visual?
(a) Projector

(b) Radio

(¢) Film strips

(d) All of the above
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134.ﬁmﬁaf@aﬁﬁaﬁh—m,®aﬁmq‘ﬁ%?

(a) Fircfox
(b) Facebook
(c) Chrome

(d) Safari

foast f5 fager ¥ 29 78F9 &1 J7
(a) Firefox

(b) Facebook

(c) Chrome

(d) Safari

Which one of the following is not a web browser?
(a) Firefox

(b) Facebook

(c) Chrome

(d) Safari

135.

e, SEiwt R ufiemr § 3@ oEE | BE € =i 98 1 FGET T 2

(a) ST ST
(b) SEArEATHS Gl
(c) TR afa

(d) T2 W AgRa

wiftmus, dEtAfGer w3 fragdt 3 2497 I fan feo feg Oswfozs aeer T

(a) EATHS HEF (drill)

(b) MBISIHT HY

(c) wfag »idiens

(d) == < HI93

Teaching is different from conditioning and training because it fosters
(a) disciplined drill

(b) critical thinking

(c) steady association

(d) mastery of facts
-
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(d) Spiritual intelligence related

fena a3 Segnt (Subjective well-being) § Yz aa 3 fefenradnt § Yfes
%95 M3 NS 96 KT ymenefl wes wet i wifmm @ T 193 S gt o
faog feafig 3= fter 30

() ¥u3Ha 9t &% wgum

(b) T=A3IHI HUl 3% Heuz

(c) WHIa=x 9dt &% neug

(d) »fo3fie oift &= mdus

Which of the following intellectual qualities of a teacher must be developed
in order to achieve subjective well-being and become effective in inspiring
and motivating students?

(a) Cognitive intelligence related
(b) Emotional intelligence related

(¢) Social intelligence related

137.

DIKSHA (Digital Infrastructure for Knowledge Sharing) U I R
Teh ST Thet frenm 79 21
DIKSHA (Digital Infrastructure for Knowledge Sharing) oaT Jg di=r

famr f¥ qredt Has fHfir yBeerar J1

DIKSHA (Digital Infrastructure for Knowledge Sharing) is a national school
education platform launched by ‘

(a) NCERT
(b) IGNOU
(c) NIOS
(d) AICTE
/10-D - L8]
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138. @F 99 A7 1 TH e B . T

RN ygr _ dsst g AgT J
Swayam Prabha is a set of channels.
(a) 4 DTH
(b) 5DTH
(c) 6DTH

(d) 7DTH

139, fr=fafigs #§ & -, saes Rendl 6 frdmwar =6 27
(a) wfwmHEh
(b) wiersa 3@
(c) w-TcRm
(d) wwEm S
gt fafipras (adult learner) €t fefmgret 35 fouftt £5F faaefhnr &t 9672
() wHA Wt
(b) it
(c) we-fsgefas
(d) T Jefds _
Which of the following is not the feature of adult learner?
(a) Result oriented
(b) Future oriented

(c) Self-directed
(d) Problem centered

140. fr=fafag § & B9, w6 =0 Rier =1 o T8 27

(a) =i o IR}

(b) = F e wEar 8

(c) qﬁmqf@aﬁwr@m%

(d) g arrshaa il 3R e w1 sreas e & 8
Jat i3 &9 faozr i I3 wiftmmug <t fefws & 972
(a) AW &9 IomH

(b) fenrt f29 femew

(c) T8 AIIIHA TLEHT

(d) f8x Hies 39 five T8 »iF WS WU § »USe 396 T
/10-D (64)




Which of th.e followmg 18 not a characteristic of a good teacher?
(a) Authoritarian in clasgs

(b) Believes in justice
(c) Has a positive attitude
(d) A lifelong learner and keeps on updating himself
141, fefefin 8 F-81/2 R = R 781 372
fow T e H /T b W I @
() Som = fagia
(i) ietater 1 Regia (e )
(i) ¥ <1 g
(iv) FTEa weg =1 fagha
(a) ()W (i)
(b) (ii) @ (i)
(©) i), (), ({ii)F (iv)
(d) FE (iv) >
o fefimit 29 faos »iftmmys o figis &t &
o3 3 <9 9< ¥ wft €39 o0 .
() Y@ = fAus
(i) adtfedt = a3 (ag & fiuer)
(i) fesamft =r fraiz | o
iv) wfsnfes §w = fug o -
(@) ()3 (i) |
(b) (i) M3 (iii)
(© G, (i), (i) 3 fiv)
(d) g (iy) _ N
Which among the following is/are not principle(s) of teaching?
Indicate the correct answer by selecting from the given code.
(i) Principle of motivation _
(tf) Principle of activity (learning by doing)
(iii) Principle of interest
(iv) Principle of indefinite aim
(@) (i) and (iii)
(b) (i) and i)
() (i), i), (iii) and (iv)
(d) only (iu)
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142.ﬁw%ﬁaaﬁﬁaﬁq—mw,@wm@ﬁwq@mqﬁﬁamm%?

(a) weftm we

(b) witf TRl

(c) 3rea Wi FrarE

(d) 3w Wi
ﬁﬁ*fé@mﬁé‘m?fﬁﬁﬁwfﬁ%?mm%mﬁ?
(a) WHfT3 AE9S

(b) ¥ AAET

(c) ¥ar 3fx TI=E

(d) Guas A9

Which of the following factors can include a good learning environment?
(a) Related context

(b) Familiar culture

(c) Good physical environment
(d) All of the above

143.

Rvegor Rhfver =it B -aT ¥ e o B0 i e I ST W /7
(a) E@H,aﬁaﬂ{@ﬂﬁﬁﬁf _

(b) AR ==it, FRIfNG =M TR PowerPoint 3maii@ ﬁﬁm

() 3R =W i & 91 ==t g, fen-tem it whaeEn

(d) I, eI 3R PowerPoint €T wrgfel

iy St g3 T faaar ayo fide &t Yfafonrr § <o meer 37
(a) Bagg, ge9T w3 itz ot :
(b) fécanafez fevg-zeieq, Uwasu 8499 M3 PowerPoint wWrafag Ygardi |
(c) féeonafez Bawq As' 3 wme o7 ANs, YoAeahiar W3 Jiee

(d) B9, YEIHG M PowerPoint warfgg Unardnft

Which set of instructional strategies is most likely to maximise learning?
(a) Lecture, discussions and seminar method

(b) Interactit_re discussions, planned lectures angd P
presentations

|
owerPoint based
(c) Interactive lecture sessions followed by b : - |
and projects Y buzz sessions, brainstormin
(d) Lecture, demonstrations and PowerPoint based presentati
ons

/10-D

(66)



m
[

- (d) Retentional process

T B S 7 0 1 e e
WE e B

(a) TS Tfpa
(b) STEHURINCTF Wik
(c) TETRITHIH

(d) SR Wfghan

#ﬁﬁé?ﬁﬁ%‘wﬁm@wamgmmammm
e Hy {dAT J -

(@) s 3= =t yiafe
(b) »EI=t faian

(c) HEERIBHG

(d) 95 ot yfafenr

thinking about thinking is a key component of our own ability to regulate
our own learning process.

(a) Attentional process
(b) Perceptual process

(c) Metacognition

/10.D (67)
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____ %, mﬁMHmﬁ%meﬁﬁwm@m
1 3w g wehd 2 .

(a) IrgspuYT Taef FHETY
(b) Aw

¢) S wHE

(d) dregrd 6 e

Weﬁqﬁrﬁwﬁem@@ﬁa&%mamwﬁx@ﬁwﬁéaﬁaw
& & yTr & 39 Haw

(a) 3Igdtg Iho AH =T
(b) JE-U9

() YaHeIams A
(d) wreeHz St AHfATE
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Problems in the learning process can involve children unable to complete
tasks because of the following except

(a) sequencing problems

b) high handedness

(
(c) abstract problems
(

d) memory problems

146.@&%Wﬁﬁwmﬁmﬁmwéywmﬁaﬁmﬂﬁwﬁﬁm

@ e s =e?

(a) ‘gﬁ?ﬁﬁ?mﬂﬂ’f‘qﬁ QT BT

(b) St T ® T AT W e

(© T % R Es TH-I Wi S
(d) S-S BT FHR AT -TIEOT FTT
ﬁammhﬁmhﬁﬁamﬁgmﬁngw%@wﬁ?%ﬁwﬁs@w
g7 § Jo foftmit 9 faw 3 55 TiE T2
(a) Tt 9our o3 ASIM § WoH &I

(b) @neﬁae‘?uﬂmﬁmmﬁﬁu@
() war ¥t wiggd SequEHT g6

(d) )ﬁ'—z{mm%n%—ﬁ

A teacher wants to encourage cognitive skills among his students. Which of
the following should be avoided by him for this purpose?

(a) Dismiss errors without discussion

(b) Identifying what doesn’t make sense
(c) Making intuitive predictions to answers
(d) Self-questioning and self-testing

H|

ol 35 5 T A 2, e o a2 oY W e g el E
(a) FT

147.

oy
=

=
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(b) BEmEBIHIHA
(c) =rourcHD T
(d) wfzmaTedeh AT
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D -

f/’_\__”_ 5 -
fees T R0t S et g 3 w3 G v o e 8 €95 fa e 0
@) T

(b) HIRBHS
(c) WHIIHR fapurs

Knowledge that individuals have, their own thinking and how they themselves
learn is called

(a) cognition
(b) metacognition
(c) declarative knowledge

(d) procedural knowledge

148. Frefafa 3 ¥ B9, R % GwTew R fgi § T =0 T8 87

(a) @RI =@

(b) WeTehIcH=h =0T

(c) & =

(d) wicfea =ro

Tot 53 5 fauar vged € Suana feam fau's i fea uamt ot 97
(a) fafowmis ygm

(b) Y v

(c) MBIt U=

(d) »rdtafas g™

Which of the following is not a stage in Bruner’s cognitive development theory?

(a) Active stage
(b) Symbolic stage
(c) Intuitive stage

(d) Iconic stage
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i

e oT i (RATE S AR 5 3 e ST T AR T |
- Frfufram, 2009 S FgeT @i 1 9@ w@ #1 NCF 3 Rrp

2005 3 e 1 JHR i
S ¥ w7 i 3 B
(a) T < whpa AT

(b) T =t fafsea fmidl

(c) o Fid

(d) wemrt fmiar

sqran foaw w3 fifve © € fEREEE € o 3 (ureitie w3 fedierd) armedt
g gaH=aR 2005 w3 fHftm T =7 #ifTerg Wz, 2009 wfidert S5t fourgs
& 2fivy 9= 31 NCF »3 RTE €5 99 & asus gge 75 fa=

(a) fomrs = faforrHis foaHmar

(d) wfga<t fegu=r
Based on two perspectives of cognitive development and learning (Piaget and

Vygotsky) National Curriculum Framework 2005 and Right to Education Act,
2009 attempt to bring about such shifts. NCF and RTE visualise a child as

a/an
(a) active constructor of knowledge
(b) passive constructor of knowledge

(c) mutual constructor

(d) cooperative constructor-

150. 9TR=h1 % TTER, W1 ITH HW 6 SO &adr g9 i ame Sfes e o gfom 2,
& we e 2
IHAAT € nigHd, IH § JfaT wds of e erfedt mee At fedus wadt AR
fefarae feams = &t &, famg fagr 7w 3

According to Chomsky, an innate capacity to acquire language is the result
of our uniquely human biological inheritance, which is called

(a) Language Adaptation Degree
(b) Language Acquisition Device

(c) Language Acceptance Desire

(d) Language Acquire Domain -
(70)
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